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QUESTION 1

Which components for an In-Memory Appliance do you need to consider for sizing? Choose the correct 

answer. 

Response: 

A. Storage 

B. Memory 

C. CPU 

Correct Answer: B 

 

QUESTION 2

Which of the following options are valid SAP HANA backup strategies? There are 2 correct answers to this question
Response: 

A. A storage snapshot followed by incremental backups and differential backups 

B. An offline backup followed by incremental backups and differential backups 

C. A full data backup followed by incremental backups and differential backups 

D. A data snapshot followed by incremental backups and differential backups 

Correct Answer: AC 

 

QUESTION 3

You need to secure client-server communication using transport layer security. Which objects must you set 

up on the server side? 

There are 2 correct answers to this question. 

Response: 

A. User certificate 

B. Private key 

C. Root certificate 

D. Server certificate 

Correct Answer: BD 
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QUESTION 4

Which best practices do you apply when you optimize the table distribution in a scale-out SAP HANA 

database? 

There are 2 correct answers to this question. 

Response: 

A. Cross-node joins must be avoided. 

B. Table partitions can be distributed over all nodes. 

C. The row store can be distributed over all nodes. 

D. The columns of a table can be distributed over all nodes. 

Correct Answer: BC 

 

QUESTION 5

Which of the following Inter-Service Communication properties binds the processes to entered address 

only and to all local host interfaces? 

Choose the correct answer. 

Response: 

A. Global 

B. Internal 

C. Local 

Correct Answer: C 
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